Rels 4: SAEAINE

o &~ W D~

NEE LR
NEE LR
o2 A

AlZd0]4& :

GDP of Korea
It 3| A

Engle-Yoo Z2& = &%



2l 1. AI&4|0]1M : GDP of Korea 2 |

— (8t=22] 0l (1970:1-2008:4): LIS &2 JIAA Q1 random walk processE & &
y, = 0.01607558 + y,_1 + e, , e,~iidN(0,0.01846839)

- 9 REOF JIAEO A|HES OIS ANt Hwol 23 1S SAISHEHSIE 20|10 UASES
- 0l= gt=2&dAH 2 GDPJF random walk process0fl MEC= 6L SHOE &

0y
>

Actual vs. Simulated GDP

1.0 115 12.0
|

105
|

100
|

— Actual GDP
— Simulated GDP

T T T T T
1970 1980 1990 2000 2010

Time



(chap8-R-1.R)

library(openxlsx)

datal<-read.xIsx("http://kanggc.iptime.org/time/R/Igdpa_sa(70-08) .xIsx")
lgdp<—datal$lgdp_sa

lgdp_sa<-ts(lgdp, start=c(1970,1), frequency=4)
glgdp_sa<-lgdp_sa-lag(lgdp_sa, k=-1)

mean(glgdp_sa)
sqart(var(glgdp_sa))

set.seed(1)

x1<-w<-rnorm(156, mean=0, sd=0.01846839)
lgdp_sal1]

x1d<—data.frame(x1)

x1d[1,1]<-lgdp_sa[1]

x1d.ts<-ts(x1d)

x1d.ts[1]

mean(x1)
var(x1)
sart(var(x1))

for(t in 2:156) x1d.ts[t]=0.01607558+x1d.ts[t—1]+w][t]
x1d<-ts(x1d.ts,start=c(1970,1), frequency=4)

lgdp_sa

x1d

plot(lgdp_sa, lwd=2, type="1", ylab="", main="Actual vs. Simulated GDP")
lines(x1d, lwd=2, Ity=6, col="blue")

legend("bottomright", legend=c("Actual GDP","Simulated GDP"),col=c("black", "blue"),lty=1)
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(chap8-R-2.R)

set.seed(123)
x1<-w1<-rnorm(500)

for(t in 2:500) x1[t]=x1[t=1]+w1[t]
(x1.ts<-ts(x1))

set.seed(1234)
y1<=z1<-rnorm(500)

for(t in 2:500) y1[tl=y1[t=1]+z1[t]
y1.ts<—ts(y1)

par(mfrow=c(2,1))
plot(x1.ts): plot(y1.ts)

Im(y1~x1)
ols1<=Im(y1~x1)
summary(ols1)

set.seed(123345)
x2<-w2<-rnorm(500)

for(t in 2:500) x2[t]=0.8*x2[t—1]+w2[t]
(x2.ts<—ts(x2))

set.seed(123456)
y2<—z2<-rnorm(500)

for(t in 2:500) y2[t]=0.5*y2[t—1]+z2[t]
y2.ts<—ts(y2)

plot(x2.ts); plot(y2.ts)
Im(y2~x2)

ols2<—Im(y2~x2)
summary(ols?2)
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(chap8-R-3.R)

library(tseries)
library(urca)

set.seed(123)
e=rnorm(500)
x=cumsum(e)
plot(x,type="1")

# DF Unit Root Test

dx=diff(x)
n=length(dx)
lagx=x[1:n]
tr=1:n

summary(Im(dx~0+lagx))
agnorm(c(0.01, 0.05, 0.1)/2)

df<—ur.df(x, type="none", lags=0)
summary(df)

summary(Im(dx~lagx))

df.d<-ur.df(x, type="drift", lags=0)
summary(df.d)

summary(Im(dx~tr+lagx))

df.t<—ur.df(x, type="trend", lags=0)
summary(df.t)



(chap8-R-4.R)
library(urca)

set.seed(123)
e=rnorm(500)
(x=cumsum(e))
plot(x,type="1")

# ADF Unit Root Test

(dx=diff(x))
n=(length(dx))

n
(lagx=x[2:n—1])
tr=1:498
ndx=dx[2:n]
lagdx=dx[1:n-1]

summary(Im(ndx~0+lagx+lagdx))

df<—ur.df(x, type="none", lags=1)
summary(df)

summary(Im(ndx~lagx+lagdx))

df.d<-ur.df(x, type="drift", lags=1)
summary(df.d)

summary(Im(ndx~tr+lagx+lagdx))

df.t<—ur.df(x, type="trend", lags=1)
summary(df.t)
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(chap8-R-5.R)

set.seed(123)

x2<-u2<-rnorm(300)

for(t in 2:300) x2[t]=0.5+x2[t=1]+u2[t]
x2.ts<—ts(x2)

set.seed(1234)

ul<-v<-rnorm(300)

for(t in 2:300) u1[t]=0.9*ut[t=1]+v[t]
ul.ts<—ts(ut)

set.seed(12345)

x1<=z<-rnorm(300)

for(t in 2:300) x1[t]=4.5+x2[t]+u1[t]
x1.ts<—ts(x1)

plot(x1, type="1", col="red", xlab="Time", ylab="X1 & X2")
lines(x2, Ity=2, col="blue")
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Vo= a+ Br+e (BEE BIHA)

Ag;=pu+ (p— g1+ 2}1:1 vjhe; +e (E912 3E)

35 AL
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0,05 0,10

2 a0 -3,29 —-2,90

100 -3,17 -2,91

200 -3,25 -2,98

3 50 -3, 75 -3, 36

100 -3, 62 -3, 32

200 -3,78 -3,51

4 50 -3, 98 -3,67

100 -4 02 -3, 71

200 -4,13 -3, 83

5 50 -4,15 -3, 85

100 -4, 36 -4,06

200 -4.43 -4.14
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(chap8-R-6.R)

library(urca)
(A=)
set.seed(123)
x2<—-u2<-rnorm(300) # Engle-Yoo Cointegration Test
for(t in 2:300) x2[t]=0.5+x2[t—1]+u2[t] resi.t<-ur.df(res, type="drift", lags=1)

summary(resi.t)
set.seed(1234)

ul<-v<-=rnorm(300) res2.t<—ur.df(res, type="drift", lags=2)
for(t in 2:300) u1[t]=0.9%ul[t-1]+v[t] summary(res2.t)
set.seed(12345) res3.t<—ur.df(res, type="drift", lags=3)
x1<=z<-rnorm(300) summary(res3.t)

for(t in 2:300) x1[t]=4.5+x2[t]+u1[t]
res4.t<—ur.df(res, type="drift", lags=4)

n=length(x1); tr=1:n summary(res4.t)

# Unit Root Test resaic.t<-ur.df(res, type="drift",
x1.t<—ur.df(x1, type="trend", lags=1) Selectlags=c("A|C"))
summary(x1.1) summary(resaic.t)
x2.t<-ur.df(x2, type="trend", lags=1) resbic.t<-ur.df(res, type="drift",
summary(x2.t) selectlags=c("BIC"))

summary(resbic.t)

# Cointegration Regression
#cr<—Im(x2~x1)
cr<=Im(x2~tr+x1)
summary(cr)
res<—(cr$resid)



